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4. (a) The management of MJK Limited considers that product Beta, one of its three main lines, is not
as profitable as the other two. The selling prices and costs of these products are as follows:

Product Selling Price Direct Material Direct Labour
® ® Dept. X | Dept.Y | Dept.Z
(9] ®) ®)
Alfa 50 10 4 2 2
Beta 40 06 2 2
Gamma 45 08 2 4
Overhead rates for each department per rupee of direct labour are as follows:
Dept. X ) Dept. Y ) Dept. Z )

Variable Overhead 1-25 0-50 1.00
Fixed Overhead 1-25 2-:00 1-50

2-50 2-50 2-50

As a Cost and Management Accountant advise the MJK Limited about the profitability of

Product Beta. Give reasons.

(b) The successful implementation of a system of budgetary control requires certain pre-requisites.

Discuss.

12+5=17

5. (a) The following information has been obtained from the records of MJ Limited, a manufacturer

of Air-Conditioner:

(9]
(i) Materials per machine 1,500
Wages per machine 900
Number of machines manufactured and sold 80
Sale price per machine 4,250

(i1) Works expenses to be charged at 60% of the wages
(iii) Office expenses to be charged at 20% of works cost

(iv) There were no stock of machines or work-in-progress at the beginning or at the end of

the period

As a Cost and Management Accountant prepare a statement showing the profit per machine
sold. Also prepare a statement showing the actual profit. Works expenses were ¥ 43,000 and

office expenses were T 48,000 as per the financial records.

You are also required to reconcile the profit as shown by the costing records with that shown by

the financial records.

Please Turn Oirer
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(b) Mritunjay Limited, manufacturing company, provides you cost and sales figures for the first
half and second half of 2015-16 as under: ’ 6
First half Second half
() ()
Sales 24,00,000 30,00,000
Total Costs 21,80,000 26,00,000

As a Cost and Management Accountant you have to determine:
(i) Contribution to Sales Ratio of the Company.

(i) Annual Fixed Costs.

(iii) Break-even Point.

(iv) Margin of Safety as percentage of sales. 11+6=17

6. (a) What are the other Services that a Cost Auditor of a company can provide to the company in

which he is appointed as Cost Auditor?
(b) List out Annexures required to be attached along with Form CRA-3 by the Cost Auditors.
(c) Is there any obligation on the part of cost auditor to report offence of fraud being or has been

committed in the Company by its officers or employees? 5+8+4=17

SECTION-C
(Economics for Managerial Decision Making)

Answer any two questions from the following. 12x2=24

7. (a) How are products priced under Monopoly market?

(b) Write about Income Elasticity of demand. 6+6=12
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8. (a) How is price of a product determined under Perfect Competition?

(b) The cost function of a firm is given by ¢ = x3 — 4x2 + 7x, find at what level of output

Average Cost is minimum and what is that Average Cost. 6+6=12
9. (a P= qlzsfz — 4 represents the demand function for a product where ‘P’ is the price per unit and

‘q’ is the quantity per unit. You have to determine the marginal revenue function.

(b) Discuss briefly the basis on which the open price discrimination is practiced. 6+6=12



